
INSTALLATION INSTRUCTIONS

PACKAGE CONTENTS TOOLS
QTY QTY

DISCLAIMER FOR RALLY INNOVATIONS PRODUCTS: Buyers assume all risk and liability whatsoever for the installa�on and the use of Rally Innova�ons products. Rally Innova�ons products are sold 
as decora�ve accessories and should not be relied upon as protec�on for the vehicle or occupants in the event of a collision or roll over. Vehicles equipped with a supplemental restraint system 
(air bag) deployed by impact should not be modified by any a�ermarket Light Bar or Skid Guard without first consul�ng the vehicle manufacturer. Rally Innova�ons, a subsidiary of Pentech 
Automo�ve, assumes no liability for injury, loss, or incidental or consequen�al damages in the event of a collision or roll over. Rev. 11/21

Make:

Model:

Product:

1 2

3 4

Subaru

2013-2019 Outback

Light Conversion

2 Light Conversion Bracket
1/4”- 20 x 5/8” Carriage Bolt
1/4” - 20 Hex Nut

1/4” Lock Washer
8
8

8
Flat Head Screwdriver

Phillips Screwdriver
7/16” Socket or Wrench

Carefully release (4) plastic rivets from the splash 
guard to access the fog light area.

Tape the upper screw heads to the bracket to temporar-
ily hold in place during install.

Carefully remove (1) plastic rivet from the fog light cover. Pull 
down (2) plastic tabs to release the fog light cover. For vehicles 
with OEM fog lights installed: remove the hardware securing the 
fog light assembly (2 nuts and 2 plastic rivets), including the 
connecting plug.

  

Carefully pull down plastic splash guard to access 
the fog light hardware.

1/4” Flat Washer8

Wiring Adapter Pigtail (optional)2



DISCLAIMER FOR RALLY INNOVATIONS PRODUCTS: Buyers assume all risk and liability whatsoever for the installa�on and the use of Rally Innova�ons products. Rally Innova�ons products are sold 
as decora�ve accessories and should not be relied upon as protec�on for the vehicle or occupants in the event of a collision or roll over. Vehicles equipped with a supplemental restraint system 
(air bag) deployed by impact should not be modified by any a�ermarket Light Bar or Skid Guard without first consul�ng the vehicle manufacturer. Rally Innova�ons, a subsidiary of Pentech 
Automo�ve, assumes no liability for injury, loss, or incidental or consequen�al damages in the event of a collision or roll over. Rev. 11/21

5 6

7 8

9 10

Install (1) 1/4”-20 x 5/8” carriage bolt, (1) washer, (1) lock 
washer, and (1) hex nut on (2) bottom mounting points. 
Install (1) washer, (1) lock washer, and (1) 1/4”-20 hex nut 
on (2) top mounting points. 

Double-check installation and re-attach the splash 
guard with the plastic rivets.

Place the upgraded fog assembly into the fog light pocket 
until the bracket meets the plastic face of the bumper 
cavity.

Assembling Wiring Adapter (Optional):
Locate the ground wire on your vehicle foglight connector. Note: It may 
not be a black colored wire. Assemble the optional Wiring Adapter to the 
Baja Designs connector in the orientation shown above. Note: The 
ground wire must route to the Black wire (-) on the Baja Designs light.

Diagram - Wiring Adapter (Optional):
Sometimes the Wiring Adapter wire color will not match the ground wire 
color (-) from the vehicle, this is �ne as long as the ground mates to the 
Black wire (-) on the Baja Designs light.

Completed pigtail assembly. 
Note: The XL-R Pro Lights have a 3-wire plug, but only the white 
and black wires will be used. The XL-R Sport Lights have a 2-wire 
plug.


